1/N,, dN,/dN_./dn do

Ratio to ATLAS

=
~

=
N

[

0.8

0.6

0.4

0.2

0.5

13000 GeV pp

B B ATLAS
o
. --3-- Herwig 7.

Nch (ATLAS UE in Z production)

Herwig++ 2.7.1 default

2.1 default

—— Pythia 8.308 default

Z (Drell-Yan)
AL I I B

T Exy —
T [ T
_ 1 \} —
— E:j 1 T i 1 !;. —
IJ_ i “ . '
I — ) an —
’ = -»" &
NEL ™~ X \_u (D —
- - 1
- % 7\ . ‘rl - _
SO 1. M B2
- Ll T -
- / I/ - .v‘"
— _1 Q “Ile (D —
- €1/
| = N
ya
IZII 1 \
- . ]
'
— 1 \\ 1
N ~
2 -3, AN
. N -
| [ | L | | | | | | | | | [ |E3‘|‘+.'£I+—.--|_ |
T T L LI B ——T— |

\ ]
\; oy 1
1 \ "
! 1
I

1
1
1
1
i |
T D

1 w 0 \W‘! ' ii?’ 3 - -
. A - é
Ey':'l .
1 N

. 0
On i Aﬂ “ t’,.hfhﬁ ‘?’ — ) s‘!”

N
X

L
_\I
1
AN
\
\

Rivet 3.1.10, = 3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


